FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
THE PORTER THAYER GLIDER




"JU3s s30d Y3 U0 PaxIDW SI3QUINU 3Y3 03 YIIDW J0U Op 3saY ] AjU0 33ua4afaJ Jof 310 3[GD]L SaXOg JO JUSIUO) dY3 Ul SIdQUINU 1IDJ (330N

159069

Jeas

sba

o |
n

aseq

‘ON

Buimeaq

uondiiosag

‘L0

S3IX04d 40 INJLNOD

—
o

THE PORTER THAYER GLIDER

www.ForeverRedwood.com



*3z|s uo buipuadap AipA [j1m a1pmpanpy 1noA fo suoisuawiq :3930N

‘(aseq ayy 01 shaj ayr yoene o)
syog Be ..z 2 X ,.9T/S

(sBa] ay) 01 1s843j9BQ BY) pUR Je8S
8} ydene o / aseq ay) 0} sBa| ay) ydene 1)
s10g ., € X .. 9T/

‘ON

Buimeaq

uondiiosag

1S1TT13dVMAYVH

P| 2

THE PORTER THAYER GLIDER

www.ForeverRedwood.com






Step 1: Use 5/16" x 3 %" bolts (A) and 5/16"" x 2 %" lag bolts (B) to attach the legs (2) to the base (1). Each part has a series
of numbers that indicate where to attach the part with the corresponding number.

5/16" X 2 %" Lag Bolts

5/16"" X 3 %" Bolts

Step 2: Attach the seat (3) to the legs with 5/16™" x 3 %2""bolts (A), as shown below. Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

\ 5/16" X 3% Bolts

P| 4

THE PORTER THAYER GLIDER
www.ForeverRedwood.com



Step 3: Finally, use 5/16"" x 3% bolts (A) to attach the backrest (4) to the legs. Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16" X 3% Bolts

THE PORTER THAYER GLIDER
www.ForeverRedwood.com



This completes the Glider assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 6
THE PORTER THAYER GLIDER
www.ForeverRedwood.com



